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* R(7—IL)
— TN -#ETLE Y D
— The R Project for Statistical Computing

e https://www.r-project.org/

— R is a free software environment for statistical computing and graphics.

e JCUI(Character User Interface) CIERT 57=6, #1iILFH -4
MBICITEENSL

e Rcommander (Z7—JL-aA<I253—)

— FIDE - BB TEREZMEALZ<T 5=6HDGUI(Graphical
User Interface) 7\ vsr— . RDVGIEEUVH L T{ES library(Remdr)

— The R Commander: A Basic-Statistics GUI for R

* https://socialsciences.mcmaster.ca/jfox/Misc/Rcmdr/

— The R Commander is a graphical user interface (GUI) to the free, open-
source R statistical software.
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xlab ... xBD S )L (label)

ylab ... yEHD 5 )L (label)

main ... 214 kJL

140
|

120
|

T

o/

> boxplot(dfbbSAE24T~dfbbS!—4, xlab="AZ=FT", ylab="2A%L",
col=c("dodgerblue","forestgreen"), main="+z - /\AE$T LL ")



RTT—FDHERE

e EFZE[X] (stem-and-leaf plot) ZHE(E

> stem(dfbbSAE£47)
The decimal point is 1 digit(s) to the right of the |
8 | 0490
10 | 134
12 | 188
14 | 03

« BERZFHEE (73 scale=2)
> stem(dfbbSA£4T, 2)

The decimal point is 1 digit(s) to the right of the |
8 | 049
9]0

1 3 Kscale MEKECT 5 LY HM BRI

12 | 188 (default=1)
13 |

14| 0

15| 3




RTT—2DHREAL
e csv I7AMILET—RELTHIFE

[ [ L -

XA X2 AR NZIRITHIVEZ DY IR

bi2016.csv
K% F— -7 FIX e [FIEER [T |47 |T24] |22 |R2F7 (28 T Ba |2k |mBk ek B [ER (B2 |HEX |RITX [BSB [HR &%
A BA =] + 0.344 137 576 488| 168 28 3 23 271 75 96 67 81 0 1 6 13 0.433] 0.555 0.339 6 16
bz NI A ) N + 0.335] 129 528 466| 156 26 8 29 285 95 76 79 53 3 3 3 16 0.404 0.612 0.346 10 2
BE B D + 0.322 133 561 469| 151 28 4 44 319 110 89 105 87 3 0 2 0 0.43 0.68[ 0.393 6 2
it RN N + 0.315] 141 640 574| 181 22 3 13 248 56 92| 106 40 0 23 3 13 0.358] 0.432 0.343 3 4
BB =N il + 0.311 131 523 453| 141 25 3 11 205 59 52 78 61 3 0 6 0 0.392 0.453] 0.31 6 1
E BA v + 0.304 133 590 481| 146 26 3 38 292 102 102 101 97 8 0 4 30 0.425| 0.607 0.299 16 5
MH E— E + 0.3024 143 576 529 160 32 0 25 267 81 58 83 38 5 2 2 1 0.354 0.505 0.305 21 15
s EE v + 0.3023 103 458 4201 127 22 1 1 154 32 48 31 34 1 1 2 3 0.354 0.367 0.301 13 5
oHE 8% N + 0.3 132 513 454| 136 23 2 19 220 101 66| 101 54 1 0 4 0.372 0.485 0.323 12 5

) 20165 7 OEFFBK{E A Bf& (Yahoo Japan! Sports navid&k )
o« J7A)LERIAH
> dfbi <- read.csv(“Y:/R/bi2016.csv”, header=T, row.names=1)

EE ]
AWMTEITRRLIZWEHZ1DZEV (B3T3, 4T, REB4T, 3TH, B4, etc), 12
F—LEOFOTHZHEEE L.

SK(Z, AIRELL L, B, xEHTANIL, yETANIL, FARILEBYIZERELTHA LD




RCT—A2NHETE
ZD D5 57 B
57

& X

XNS5DT I ERMLI=ILNEIE, ExcelZ{E>=AMNELY



—) s
RTT—ADMRREAL
> = > XBIEEADRYMLER. “royalblue’%6[ repeat L.
*Eb 77§1lﬁ J-"jz / ”viﬁetrgc)j’/’\’éﬂﬁ)l:/epeat L,T(:)»’Iglglbj}lx’é(i)(")e 2? al]t:ﬁJ\
> cc <- c(rep("royalblue",6), rep("violetred",6))
> barplot(dfbbSh#5 %X, names.arg=row.names(dfbb), col=cc, xlab="

9: A%u ylab_n

5)

4/

dfbbSH5 4K ... data.frameT#H 5 dfbb DB B BT 57D T—2ELTHEH
names.arg ... TNENDEIZH LT DB TR

col ... EDBIETE
xlab ... xEHD T N)L
ylab ... yERD SN )L

Tips !
> colors()

XRT{HEZB657E
DEXTUPE T

R

e

40

R Graphics: Device 2 (ACTIVE) EI

80

60

20

] ) DeMNA PO V2RSS FUsDR HBHENL  OvF

F-b£B




RTT—FDHERE
- BAEEER (1)

> plot(dfbbSH%EE, dfbbSEHEIEE, xlab="#%Z", ylab="[5{H1Z",

CO|="purp|e") rRRGraphics: Device 2 (ACTIVE) El@ﬂ
X8l % dfbb$ %=
yiwg dfbbSFAfEI 2
DT—3%= AR EER 2 -
xlab ... xXEHISNJLDIETE
ylab ... yBISNILDIETE o
col ... 7AYMT LR DBIETE it
s
dfbbSEEEE (£ dfbb[,6] TH&L 045 050 05
dfbbSFhfEIEE (X dfbb[,12] THKLY -




RTT—FDHERE

« B ZF{ER(2)

> plot(dfbb[,6], dfbb[,12], xlab="}%:

xEfiZ dfbb[,6]="fZ"
vEh % dfbb[,12]="F1{HIZ"
DT —5%&AVERMEZE R

xlab ... xEHIS N JLDIETE
ylab ... yERSNILDIETE

type ... TMEI R DTELE
“p” ... points fg (default)
“I ... lines $£ 7
“b” ... both &R A
“c . D Db RZEIRWLVED
“o” ... overplotted

“h” ... histogram

s” ... stair steps
“n” ... no plotting RZEMH7ELY

g2 3
LN

el

(n’ ylab=|| Bﬁfﬁﬂgnl type=||b||)

R} R Graphics: Device 2 (ACTIVE)

pagr S

4.5

4.0

35

30

(=)o ]




RTT —FDHRELL
e BN ZE1ERL (3) KT OV EETI, w-iﬁ{f(fﬂﬁ@

> plot(dfbb[,6], dfbb[,12], xlab="f%Z&", ylab="FfHI1Z", type="n")
> text(dfbb[,6], dfbb[,12], dfbb[,1], col=cc)

/ R R Graphics: Device 2 (ACTIVE) == =

X)) —G & METOvbBRELTHEK
(data.frame T# 5 dfbb D15 B I(Z v
J—G B ANT-CEERBNVEFS )

45

Xcol=cc [FBERTEZ cclZT HELDHTE i
(cc X)—T BDAEZTFRANILIL 4

4.0

tL«T'f’F’DT’utélu\L\T’%j ! ) *j'?t It ¥ t
& . ‘ t .
15
dfbb[ 1] [ dfbb$—4 TH L ° ] ;
dfbb[,6] (& dfbbSEEE TH KLY o o e

dfbb[,12] (X dfbbSBA{EHIZ THEKLY




RTT—FDHERE

» A RIZEER(4)

XTOVMIET I, B-whiztEiEE

> plot(dfbb[,6], dfbb[,12], xlab="f%Z&", ylab="FfHI1Z", type="n")

> text(dfbbl[,6], dfbb[,12], row.names(dfbb))

/

XF—LEBFETAvcRELTHL
(read.csvTesv I 7 A IL &R IAA TR
[Z, row.namesELTIFIB DF—LAFR
ZHRELECEZERWWV=ZES )

dfbb[,6] I dfobSEEEE THKLLY
dfbb[,12] (& dfbbSEAEIZEE TH LKLY

[ R Graphics: Device 2 [ACTIVE) =N =R
L
Lo
o
O»T
o |
= R
it B e
=] FE. DeNA 55
= e=
Bz L
o | EA
Lo
U0
o |
Lo
U2
T T T
0.43 0.50 0.55




£ RTT—HORHEAE
FAOITRIEHRMBRZIER (1) -scatterplot()-

Mscatterplot() D {F A%
D package “car’ MDA Ak—JL

> install.packages(“car”)

> library(car) <« package “car” D &% 1A H
> scatterplot(dfbb[,4], dfbb[,8], xlab="8&%%", ylab="%=R")
Ximé dfbb[)4]:”ﬁ§ﬂ" IR R Graphics: Device 2 (ACTIVE) = =R

vl % dfbb[,8]=“%k "
DT —3% AW KZE1ERL

700

xlab ... xETN)LDIETE
ylab ... yEIS N ILDIETE

XEZNZhOBIZ, ZRENOD
FAQEOMTRAEIoNDG

XKEKER (X EIRE R regression line —
X IR R R R FE#E Espan —

650

=]
\\\ 500
|

60 65 70 75 a0




(Z%] RTT—3NMHREL
« FEWMTRIEEEZIER (2) -scatterplot()-

S pointLabel() M {5 FHZE (&
packages “sp”,“maptools” DA Ak—JL

> install.packages(“sp”)

> install.packages(“maptools”)

> library(sp) < packages “sp”, “maptools” (D &EiA 7
> library(maptools) (3%:17 sp > maptools DJIF ! )

- REF—LABTMATAOAVRT S
> scatterplot(dfbbl[,4], dfbb[,8], xlab="& 2", ylab="5< /=", reg.line=F,
smooth=F) (i
> pointLabel(x=dfbbl[,4], y=dfbb[,8], labels=row.names(dfbb))

X R R (T FE ALY X [B] IR E R regression line
(FHE AL (FILFalse D E)

XKD BEDSIN)LE
row.names(dfbb)&L TEL
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¢ R Graphics: Device 2 (ACTIVE) |- [eEae]
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